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probability: the chance an uncertain event will occur- always between O and T-
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a. Two Normal Distributions with Same Variance but Different Means
b. Two Normal Distributions with Different Variances and Mean = 5
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Figure 6.8: The original and transformed normal distributions.

Example

Aluminum sheets used to make beverage cans have
thicknesses (in thousandths of an inch) that are normally
distributed with mean 10 and standard deviation 1.3.

a) A particular sheet is 10.8 thousandths of an inch 1.3
thick. Find the z-score.

b) The thickness of a certain sheet has a z-score of b) 2=-{F=
—1.7. Find the thickness of the sheet in the original
units of thousandths of inches.

ExampLe:

Example 6.6:‘ Given a normal distribution with p = 40 and o = 6, find the value of x that has
(a) 45% of the area to the left and

(b) 14% of the area to the right.
055 QuS
/\A.—\

LS
2%0\0\3: v

V7
Figure 6.13: Areas for Example 6.6.
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Erxemple:

A random variable has a Normal distribution with
(Variance 100. Find its mean if the probability that it will

take on a value less than 77.5 is 0.8264.
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since ISt is 8Y mmetrico/

F(a)=P(X < a))/ \ / P(x<0)= P> -0)



